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Q.1  Multiple choice of Question: 10
{1} E-R model means.
A, Entity Relationship B. Entity relative
C. Every references ‘ D. Equity relationship
[2] Attributes are shown in ER- Diagrams.
A. Oval B. Line C. Diamond D. Rectangle
[3] Derived attributes are shown in
A, Dotted B, Underline C. Line D. Arrow,
4] Clause is use with select statement to display unique

records of a column specified.
A.Order by  B.display C. between  D. Distinet

[5] Statement is use fo delete a table structure.
A. Comnect  B.update C. delete D. drop

[6] SQL PLUS command is use to open notepad editor for
modifying last executed query.
A. Connect B. Save C. ed D. spool

I7] The function converts char, a CHARACTER value -
expressing a number, to a NUMBER data-type,
A. TO_NUMBER B. TO_CHAR
C.TO_DATE D. TO_NUM

[8] returns the string passed as a parameter after right
padding it to a specified length.
A, LPAD B. LTRIM C. RTRIM D. RPAD

191 .__ makes and saves the current points the processing of
transaction.
A, Commit B. save point C. roll back D. view

[10] To reduce redundant data to the minimnm possible and object
is create called a

A. Synonym B.Views  C.Sequences D, Indexes .
Q.2 Answer the following questions in short (Any 10): 20

[1] What is domain?

[2] What is attributes?

[3] Draw the three level architecture of DBMS,
[4] Write advantages and disadvantages of SQL in brief.
[5] Explain the term : set pagesize

[6] Explain the term : save

[7] What is column level Constraints?

[8] How UNIQUE key can apply at table level?
{91 Explain use of BETWEEN operator.

[10] What is inner join?

[11] What is row id? Gives the type of row id.
[12] How can the grant given on an object.
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Explain Relational and Network data model.

OR
[A] Explain types of relationship.
[B] Explain code rules.

[A] Explain various ways to insert records in a {able,
|Bj Explain basic data types used in oracle.

OR
What is DML? List and explain different types of comands under
this category with appropriate syntax and example,

List all Aggregate functions available in oracle and explain any
three of them with appropriate syntax and example,

OR
Desceribe the concept of Foreign key and Primary key with suitable
example,

What is index? How various types of indexes are created? Explain
with syntax with example.

_ OR
What is cursor? Explain all enrsor attributes
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